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Honors Algebra 3-4 Name
5.1 Worksheet
Simplify.
1. tan®@-cscd 2. tan’@-cos’ @
¢ . o
o A@QW—L i Lo ot
208 “P@*‘ e
%’:«m
[sn e
2.2 2
. &+ e
4. sin@-tan@-cotf-cscd 5. u
cos @
i ﬁ@ .:H i oo i l
B 1 Y sty N B
g bar
7’3?2, o
;o
S , l+tan*@
7. sec@—-sinftan ;a’?
tan” @
o »5;*‘};1 & ,.-:J-ts;;-. & {
éi@w"’@w
tod g 4+ |
Kﬁﬁf‘z@w
2 2
0. 0'509_00“9 . tan29+cot29
sind tané sec @ csetd
. L,
_L,__‘_\., g 5m > Cﬂgéf 4 C‘“"ﬁ?ﬂ&
Sise— Sohw 5ol %m*e:w’ Q:)j@v | }m??\a“ {

J;ﬂiﬁ’ +«€mj a@r

i/

3, sin®@-cot’ @

ua;’:f\' K &, "he:r )
aﬂj'ﬁﬁ e : fl&ﬁ@ﬂ
ot

AR

/ b7
{.Los &

e e

6. sinB(cch—sin@)
N x
Sindrgca — Sin B

s 2
I i e
”awﬁfﬁ@‘*

l - Sl\f] g@”

Teoc®,

e

sec’6-1
sec’ @

Secter .t
Sty C <l

9.

m

12. sin® @ +cos’ &+tan’ @

( -‘*{:CM ‘Z{@"

Period




13, cse?@—cot’ §+tan’ 0
[ bt ok b tlane

- W&w -

T

Pt it o

1-sin’@

16. 5
1—cos @

cose
Sid

MM“!W ”"‘““’mﬁ

f{@@'{f kS /
i

o g

19, secl?—;:osé’
tan® &
,,S‘emm it €338
@Mw Gt
tayer EB1

X @w
Siter

Cadar S o

¢
Lost- (oS G-
YA Sialer

cm‘&ﬁw@ﬁé@

14. sinfcscd +tandcotd

) m n‘” .{ﬁ’%f@?ﬁ [ e
5 A@“ INCa {*“gi D

17. tan@cot& —cos’ @

@m
”(’,@m ﬁgwés"

?
E = G g
S AE

s G -

20. (1+cos@)(cscl - cotd)

cosé

15. ¢cosdsecd—

secd
(s — Cofo ERF
Coier )
| - Cod 2;@3@
la«-i;ﬂﬂauﬂ &;u.;w_‘;’
f ggm @
18, sin@-+tan@
1+secl9
{5:/@ #fﬁ%; U bt
(1 dier 2 b

(ha0case Je;:smw)?; fomsa)
Cwsw% S{wa@,w}
S faser *&PQMWM‘E\MMQ& -@aws.
é w‘f%éw \
Senty (1 —Cos *e:-)
Sia ’
wﬂi@" :
ﬁﬁw

51 ;
e

cot’ 8
cscd+1

+1

L5t ot Fosatioom —tole Cobes

L e LGe

DAt SR Soawr

£

Gof e

o
| = cal "o
ey

s; e

cm% A o ( 1 tde @j)

Bl (1vesco Yi-cicer)

Cﬁé" o Céﬁﬂ@}

Qa‘{j?t{ j=e Sﬁ@) iy
ot e

- [;»ck&) ,
=| i ¥ |

Leey




5.

Honors Algebra 3-4
5.2 Worksheet

Prove that each equation is an identity.
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Honors Algebra 3-4
5.1 Worksheet

Simplify.
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Honors Algebra 3-4
5.2 Worksheet

Prove that each equation is an identity.
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